



Electronic Journal of Mathematical Analysis and Applications
Vol. 13(1) Jan. 2025, No.12.
ISSN: 2090-729X (online)
ISSN: 3009-6731(print)
<http://ejmaa.journals.ekb.eg/>

UNIQUENESS OF MEROMORPHIC FUNCTIONS THAT SHARE VALUES IM WITH THEIR DERIVATIVES

B. SAHA, S. PAL

ABSTRACT. In this paper, we investigate the problem of uniqueness of meromorphic functions sharing two values IM (Ignoring Multiplicities) with their derivatives. Some examples are provided to show the sharpness of the result. The obtained result improves and generalizes the corresponding result from [S. Chen and A. Xu, Uniqueness of derivatives and shifts of meromorphic functions, *Comput. Methods Funct. Theory*, **22** (2022), 197-205].

1. INTRODUCTION, DEFINITIONS AND RESULTS

Let $f(z)$ be a nonconstant meromorphic function in the whole complex plane. We shall use the following standard notations of Nevanlinna theory, for instance $T(r, f)$, $m(r, f)$, $N(r, f)$, $\bar{N}(r, f)$ (see [5, 10, 15]). We denote by $S(r, f)$ any quantity satisfying $S(r, f) = o\{T(r, f)\}$ as $(r \rightarrow \infty, r \notin E)$, where E denotes any set of positive real numbers having finite linear measure. The hyper order of f is defined as follows

$$\rho_2(f) = \limsup_{r \rightarrow \infty} \frac{\log^+ \log^+ T(r, f)}{\log r}.$$

Let k be a positive integer or infinity and $a \in \mathbb{C} \cup \{\infty\}$. Set $E(a, f) = \{z : f(z) - a = 0\}$, where a zero with multiplicity k is counted k times. If the zeros are counted only once, then we denote the set by $\bar{E}(a, f)$. Let f and g be two non-constant meromorphic functions. If $E(a, f) = E(a, g)$, then we say that f and g share the value a CM (Counting Multiplicities). If $\bar{E}(a, f) = \bar{E}(a, g)$, then we say that f and g share the value a IM (Ignoring Multiplicities). We denote by $E_{(k)}(a, f)$ the set of all a -points of f with multiplicities not exceeding k , where an a -point is counted according to its multiplicity. Also we denote by $\bar{E}_{(k)}(a, f)$ the set of distinct a -points of f with multiplicities not exceeding k . In addition, we need the following definitions.

2020 *Mathematics Subject Classification.* 34A34, 34M05, 30D35.

Key words and phrases. Uniqueness, Differential polynomial, Shift polynomial, Meromorphic function.

Submitted July, 21, 2024. Revised Sep. 25, 2024.

Definition 1.1. [8] Let $a \in \mathbb{C} \cup \{\infty\}$. We denote by $N(r, a; f)$ the counting function of simple a -points of f and $\overline{N}(r, a; f)$ denote the corresponding reduced counting function. For a positive integer k we denote by $N_{(k)}(r, a; f)$ the counting function of those a -points of f (counted with proper multiplicities) whose multiplicities are not greater than k . By $\overline{N}_{(k)}(r, a; f)$ we denote the corresponding reduced counting function. Let $N_{(k)}(r, a; f)$ be the counting function of zeros of $f - a$ with multiplicity at least k and $\overline{N}_{(k)}(r, a; f)$ the corresponding one for which multiplicity is not counted.

Definition 1.2. [9] Let k be a positive integer or infinity. We denote by $N_k(r, a; f)$ the counting function of a -points of f , where an a -points of multiplicity m is counted m times if $m \leq k$ and k times if $m > k$. Then

$$N_k(r, a; f) = \overline{N}(r, a; f) + \overline{N}_{(2)}(r, a; f) + \dots + \overline{N}_{(k)}(r, a; f).$$

Clearly $N_1(r, a; f) = \overline{N}(r, a; f)$.

As we know, Nevanlinna theory plays an important role in the study of complex differential equations and complex difference equations, (see[1, 2, 10, 14]). Recently, many papers have focused on the study of complex differential-difference equations (called DDE for short), (see [6, 11]) and so on.

For the DDE $f'(z) = f(z + c)$, X. Qi, L. Yang [12] considered the uniqueness problem between $f'(z)$ and $f(z + c)$ of meromorphic functions $f(z)$ in view of Nevanlinna theory and obtained the following result.

Theorem A. [12] Let $f(z)$ be a transcendental entire function of finite order and $a(\neq 0) \in \mathbb{C}$. If $f'(z)$ and $f(z + c)$ share 0, a CM, then $f'(z) = f(z + c)$.

To further improve Theorem A, a more general question could be posed as follows: could we determine the relationship between the k -th derivative $f^{(k)}(z)$ and the shift $f(z + c)$ of a meromorphic (or entire) function $f(z)$ under more general sharing value conditions?

In 2021, S. Chen and A. Xu [3] proved a uniqueness theorem about the k -th derivative $f^{(k)}(z)$ and the shift $f(z + c)$ of a meromorphic function $f(z)$ with two CM sharing values and one IM sharing value, which greatly generalizes and improves Theorem A. Their result can be stated as follows.

Theorem B. [3] Let $f(z)$ be a non-constant meromorphic function of hyper order $\rho_2(f) < 1$, c be a non-zero finite complex number, and k be a positive integer. If $f^{(k)}(z)$ and $f(z + c)$ share $0, \infty$ CM and 1 IM, then $f^{(k)}(z) = f(z + c)$.

Regarding Theorem B it is natural to ask the following questions.

Question 1.1. What will happen if we replace the function $f^{(k)}$ by the function $L(f)$, where $L(f)$ is defined as follows $L(f) = a_k f^{(k)} + a_{k-1} f^{(k-1)} + \dots + a_1 f' + a_0 f$, $a_k(\neq 0), a_{k-1}, \dots, a_1, a_0 \in \mathbb{C}$.

Question 1.2. Is it possible to relax the nature of sharing in Theorem B?

In this paper, we continue to study the above questions. We shall prove a uniqueness theorem with two IM sharing, which would generalize and improve Theorem B. The following theorem is the main result of the paper.

Theorem 1.1. Let $f(z)$ be a transcendental meromorphic function of hyper order strictly less than 1 and let a, b be two distinct finite values. If $f(z + c)$ and $L(f)$ share a, b IM and $\overline{N}(r, a; f) + \overline{N}(r, \infty; f) = S(r, f)$, then $f(z + c) = L(f)$.

Remark 1. It is easy to see that the condition $\overline{N}(r, a; f) + \overline{N}(r, \infty; f) = S(r, f)$, in Theorem 1.1 is necessary by the following examples.

Example 1.1. Let $f(z) = \frac{2}{1-e^{-2z}}$ and $a = 0, b = 1$, then for $c = \pi i$, $f(z+c)$ and $L(f)$ share the value $0, 1$ IM but $f(z+c) \not\equiv L(f)$ because $\overline{N}(r, a; f) + \overline{N}(r, \infty; f) \neq S(r, f)$.

Example 1.2. Let $f(z) = \sin z$, then for suitable values of a, b, c , $f(z+c)$ and $L(f)$ share the value a, b IM but $f(z+c) \not\equiv L(f)$.

Remark 2. From the condition of Theorem 1.1 and $f(z+c) \not\equiv L(f)$, we have $S(r, f(z+c)) = S(r, L(f))$. In fact, since $\overline{N}(r, \infty; f(z+c)) = S(r, f(z+c))$, this means that

$$N(r, \infty; f(z+c)) \leq m\overline{N}(r, \infty; f(z+c)) + S(r, f(z+c)) = S(r, f(z+c)), \quad (1.1)$$

where m is the maximum order of all poles of $f(z+c)$. If $f(z+c) \not\equiv L(f)$, then by Lemma 2.3 below and (1.1), it follows that

$$\begin{aligned} T(r, f(z+c)) &\leq \overline{N}(r, a; f(z+c)) + \overline{N}(r, b; f(z+c)) + \overline{N}(r, \infty; f(z+c)) + S(r, f(z+c)) \\ &\leq \overline{N}(r, a; L(f)) + \overline{N}(r, b; L(f)) + S(r, f(z+c)) \\ &\leq \overline{N}(r, 0; (f(z+c) - L(f))) + S(r, f(z+c)) \\ &\leq T(r, (f(z+c) - L(f))) + S(r, f(z+c)) \\ &\leq m(r, (f(z+c) - L(f))) + S(r, f(z+c)) \\ &\leq m \left(r, \frac{(f(z+c) - L(f))}{f(z+c)} \right) + m(r, f(z+c)) + S(r, f(z+c)) \\ &\leq T(r, f(z+c)) + S(r, f(z+c)), \end{aligned}$$

which implies that

$$2T(r, L(f)) \geq \overline{N}(r, a; L(f)) + \overline{N}(r, b; L(f)) = T(r, f(z+c)) + S(r, f(z+c)). \quad (1.2)$$

On the other hand, with Lemma 2.3 below and the definition of $L(f)$, we have

$$T(r, L(f)) \leq (k+1)T(r, f(z+c)) + S(r, f(z+c)). \quad (1.3)$$

By combining (1.2) and (1.3), we get $S(r, f(z+c)) = S(r, L(f))$. Again we know that $S(r, f(z+c)) = S(r, f(z))$. Therefore we use $S(r, f(z+c)) = S(r, L(f)) = S(r, f(z))$. For simplicity we take $f(z+c) = f_c(z)$.

Definition 1.3. [15] Let $f(z)$ be a meromorphic function in the complex plane and a be any finite value. If $f(z) - a$ has no zeros, then a is called a Picard value of $f(z)$.

2. Lemmas

Lemma 2.1. [7] Let $f(z)$ be a meromorphic function of hyper order strictly less than 1. Then

$$m(r, \frac{f(z)}{f(z+c)}) + m(r, \frac{f(z+c)}{f(z)}) = S(r, f) \text{ and } m(r, \frac{L(f)}{f-a}) = S(r, f), \text{ where } a \text{ is a constant.}$$

Lemma 2.2. [7] Let $T : [0, +\infty) \rightarrow [0, +\infty)$ be a non-decreasing continuous function, and let $s \in (0, +\infty)$. If the hyper order of T is strictly less than 1, i.e.,

$$\limsup_{r \rightarrow \infty} \frac{\log \log T(r)}{\log r} = \epsilon < 1,$$

and $\delta \in (0, 1 - \epsilon)$, then

$$T(r+s) = T(r) + o\left(\frac{T(r)}{r^\delta}\right),$$

where r runs to infinity outside of a set of finite logarithmic measure.

Lemma 2.3. [4] Let $f(z)$ be a meromorphic function of hyper order strictly less than 1, then we have

$$N(r, f(z+c)) = N(r, f) + S(r, f)$$

and

$$T(r, f(z+c)) = T(r, f) + S(r, f).$$

Lemma 2.4. [15] Let $f(z)$ be a non-constant meromorphic function, $a \in \mathbb{C}$, and k be a positive integer. Then

$$\overline{N}(r, a; f) \leq \frac{k}{k+1} \overline{N}_k(r, a; f) + \frac{1}{k+1} T(r, f) + O(1).$$

Lemma 2.5. [15] Suppose that $f(z)$ is a non-constant meromorphic function and $P(f) = a_p f^p + a_{p-1} f^{p-1} + \dots + a_0 (a_p \neq 0)$ is a polynomial in $f(z)$ with degree p and coefficients $a_i (i = 0, 1, \dots, p)$ are constants, suppose furthermore that $b_j (j = 0, 1, \dots, q)$ are distinct finite values. Then

$$m \left(r, \frac{P(f)f'}{(f-b_1)(f-b_2)\dots(f-b_q)} \right) = S(r, f).$$

Lemma 2.6. [15] Let $f(z)$ be a non-constant meromorphic function and a, b be two distinct finite values. If a and b are Picard values of $f(z)$, then $f(z) = \frac{ae^{h(z)} - b}{e^{h(z)} - 1}$, where $h(z)$ is a non-constant entire function.

Lemma 2.7. Let $f(z)$ be a meromorphic function of hyper order strictly less than 1, and let a, b be two distinct finite values. Suppose that f_c and $L(f) (\neq 0)$ share a, b IM, and $\overline{N}(r, a; f) + \overline{N}(r, \infty; f) = S(r, f)$. And suppose furthermore that $f_c \neq L(f)$. Then the following holds.

(i) $T(r, f_c) = \overline{N}(r, b; f_c) + S(r, f)$, $T(r, L(f)) = \overline{N}(r, b; L(f)) + S(r, f)$. Moreover, we have $T(r, L(f)) = T(r, f_c) + S(r, f)$.

(ii) $T(r, f_c) = \overline{N}(r, d; f_c) + S(r, f)$, $T(r, L(f)) = \overline{N}(r, d; L(f)) + S(r, f)$, where $d (\neq a, b) \in \mathbb{C}$.

(iii) $N^*(r, a) + N^*(r, b) = S(r, f)$, where $N^*(r, a)$ is the counting function of the multiple common zeros of $f_c - a$ and $L(f) - a$, which counts multiplicities according to the minor one, notation $N^*(r, b)$ can be similarly defined.

(iv) $\overline{N}_{(2)}(r, b; f_c) = S(r, f)$, $\overline{N}_{(2)}(r, b; L(f)) = S(r, f)$.

(v) $\overline{N}(r, b; f_c) - N_E(r, b) = S(r, f)$, where $N_E(r, b)$ is the reduced counting function of the common zeros of $f_c - a$ and $L(f) - a$ with the same multiplicities.

(vi) $\overline{N}(r, 0; f'_c) = S(r, f)$, $\overline{N}(r, 0; L'(f)) = S(r, f)$.

Proof. (i)

The assumption that $\overline{N}(r, a; f_c) + \overline{N}(r, \infty; f_c) = S(r, f)$, together with the second main theorem, means

$$\begin{aligned} T(r, f_c) &\leq \overline{N}(r, a; f_c) + \overline{N}(r, b; f_c) + \overline{N}(r, \infty; f_c) + S(r, f) \\ &\leq \overline{N}(r, b; f_c) + S(r, f) \\ &\leq T(r, f_c) + S(r, f), \end{aligned}$$

which implies that

$$T(r, f_c) = \overline{N}(r, b; f_c) + S(r, f). \quad (2.1)$$

From the assumption, we have

$$\overline{N}(r, a; L(f)) + \overline{N}(r, \infty; L(f)) = S(r, f),$$

and

$$\overline{N}(r, b; f_c) = \overline{N}(r, b; L(f)). \quad (2.2)$$

Similarly, we have

$$T(r, L(f)) = \overline{N}(r, b; L(f)) + S(r, f). \quad (2.3)$$

From (2.1) to (2.3), it follows that

$$T(r, L(f)) = T(r, f_c) + S(r, f).$$

(ii)

By the second main theorem, the assumption that $\overline{N}(r, a; f_c) + \overline{N}(r, \infty; f_c) = S(r, f)$, and the conclusion (i), we have

$$\begin{aligned} 2T(r, f_c) &\leq \overline{N}(r, a; f_c) + \overline{N}(r, b; f_c) + \overline{N}(r, d; f_c) + \overline{N}(r, \infty; f_c) + S(r, f) \\ &\leq T(r, f_c) + \overline{N}(r, d; f_c) + S(r, f) \\ &\leq 2T(r, f_c) + S(r, f), \end{aligned}$$

which implies that

$$T(r, f_c) = \overline{N}(r, d; f_c) + S(r, f).$$

Similarly, we have

$$T(r, L(f)) = \overline{N}(r, d; L(f)) + S(r, f).$$

(iii)

Let us denote

$$g(z) = \frac{f'_c(f_c - L(f))}{(f_c - a)(f_c - b)}. \quad (2.4)$$

Then, by (1.1) and the value sharing assumption, we know $N(r, g) = S(r, f)$. Next, we write (2.4) in the form

$$g(z) = \frac{f'_c f_c}{(f_c - a)(f_c - b)} \frac{f_c - L(f)}{f_c}.$$

Using Lemma 2.5, we get

$$m\left(r, \frac{f'_c f_c}{(f_c - a)(f_c - b)}\right) = S(r, f).$$

By Lemma 2.1 we easily obtain that

$$m\left(r, \frac{f_c - L(f)}{f_c}\right) = S(r, f).$$

Thus,

$$T(r, g) = m(r, g) = S(r, f). \quad (2.5)$$

On the other hand, let z_0 be a multiple common zeros of $f_c - a$ (or $f_c - b$) and $L(f) - a$ (or $L(f) - b$) with multiplicities p and q ($p \geq 2, q \geq 2$) respectively. By a simple computation, we know z_0 is a zero of $g(z)$ with multiplicity $\min\{p, q\} - 1$ (≥ 1) at least. Therefore, we have

$$N^*(r, a) \leq 2N(r, 0; g) + S(r, f) \leq 2T(r, g) + S(r, f) = S(r, f),$$

$$N^*(r, b) = S(r, f),$$

and so

$$N^*(r, a) + N^*(r, b) = S(r, f).$$

(iv)

Combining Lemma 2.4 and the conclusion (i), we have

$$T(r, f_c) + S(r, f) = \overline{N}(r, b; f_c) \leq \frac{1}{2}\overline{N}_1(r, b; f_c) + \frac{1}{2}T(r, f_c) + S(r, f),$$

which implies

$$T(r, f_c) \leq \overline{N}_1(r, b; f_c) + S(r, f) \leq T(r, f_c) + S(r, f).$$

This together with the conclusion (i), implies that

$$T(r, f_c) = \overline{N}_1(r, b; f_c) + S(r, f) = \overline{N}(r, b; f_c) + S(r, f).$$

and so

$$\overline{N}_{(2)}(r, b; f_c) = S(r, f),$$

and similarly, we have

$$\overline{N}_{(2)}(r, b; L(f)) = S(r, f).$$

(v)

We denote by $N_E^1(r, b)$ the reduced counting function of the common simple zeros of $f_c - b$ and $L(f) - b$. Using the conclusion (iv) and the value sharing assumption, we obtain

$$\overline{N}(r, b; f_c) \geq N_E^1(r, b) \geq \overline{N}_1(r, b; f_c) - \overline{N}_{(2)}(r, b; L(f)) = \overline{N}(r, b; f_c) + S(r, f),$$

which means

$$\overline{N}(r, b; f_c) = N_E^1(r, b) + S(r, f). \quad (2.6)$$

On the other hand, by the conclusion (iii), we have

$$N_E(r, b) - N_E^1(r, b) \leq N^*(r, b) = S(r, f)$$

and so

$$N_E(r, b) = N_E^1(r, b) + S(r, f). \quad (2.7)$$

From (2.6) and (2.7), we see

$$\overline{N}(r, b; f_c) - N_E(r, b) = S(r, f).$$

(vi)

We denote by $N_0(r, 0; f'_c)$ the counting function of zeros of f'_c but not the zeros of $f_c - a$ and $f_c - b$; $N_0(r, 0; L'(f))$ is defined similarly. Then by the second main theorem and the conclusion (i), it follows that

$$\begin{aligned} T(r, f_c) &\leq \overline{N}(r, a; f_c) + \overline{N}(r, b; f_c) + \overline{N}(r, \infty; f_c) - N_0(r, 0; f'_c) + S(r, f) \\ &\leq T(r, f_c) - N_0(r, 0; f'_c) + S(r, f). \end{aligned}$$

Thus,

$$N_0(r, 0; f'_c) = S(r, f). \quad (2.8)$$

and similarly,

$$N_0(r, 0; L'(f)) = S(r, f). \quad (2.9)$$

Now by (2.8), (2.9), the conclusion (iv) and the assumption that $\overline{N}(r, a; f_c) = \overline{N}(r, a; L(f)) = S(r, f)$, we have

$$\overline{N}(r, 0; f'_c) = S(r, f), \overline{N}(r, 0; L'(f)) = S(r, f).$$

This completes the proof. \square

Lemma 2.8. [15] *Suppose that $f_j(z)$ ($j = 1, 2, \dots, n$) ($n \geq 2$) are meromorphic functions and $g_j(z)$ ($j = 1, 2, \dots, n$) are entire functions satisfying the following conditions.*

$$(1) \sum_{j=1}^n f_j(z) e^{g_j(z)} = 0.$$

(2) $g_j(z) - g_k(z)$ are not constants for $1 \leq j < k \leq n$.

(3) For $1 \leq j \leq n$, $1 \leq h < k \leq n$

$$T(r, f_j) = o\{T(r, e^{g_h - g_k})\}, r \rightarrow \infty, r \notin E,$$

where $E \subset (1, \infty)$ is of finite linear measure.
Then $f_j(z) = 0$.

Lemma 2.9. *Let f_c be a transcendental entire function of hyper order strictly less than 1, and let a, b be two distinct finite values. If f_c and $L(f) (\neq 0)$ share b IM, and a is a Picard value of f_c and $L(f)$. Then $f_c = L(f)$.*

Proof. Since a is a Picard value of f_c and $L(f)$, we have

$$f_c = e^{h(z+c)} + a,$$

where $h(z+c)$ is a non-constant entire function of order less than 1. Moreover, we get

$$\frac{L(f) - a}{f_c - a} = \frac{\sum_{i=0}^k B_i e^{h(z+c)} - a}{e^{h(z+c)}},$$

where $B_i = B_i(h^{(1)}, h^{(2)}, \dots, h^{(k)})$ is a Bell polynomial.

$$= \sum_{i=0}^k B_i - a e^{-h(z+c)} = e^{Q(z+c)}, \quad (2.10)$$

where $Q(z+c)$ is entire.

If $Q(z+c)$ is a constant, then

$$\frac{L(f) - a}{f_c - a} = A,$$

where A is a non-zero constant. Since f_c and $L(f)$ share b IM, which shows $A = 1$.

Hence $f_c = L(f)$.

If $Q(z+c)$ is not a constant, then it follows from (2.10) that

$$\sum_{i=0}^k B_i - a e^{-h(z+c)} - e^{Q(z+c)} = 0. \quad (2.11)$$

If $Q(z+c) + h(z+c) = C$, where C is a constant. Then from (2.11) can be rewritten as

$$\sum_{i=0}^k B_i = (e^C + a) e^{-h(z+c)},$$

which is impossible, since $\sum_{i=0}^k B_i \neq 0$ and $h(z+c)$ is not a constant. Thus $Q(z+c) + h(z+c)$

is not a constant, and so $h(z+c)$, $Q(z+c)$ and $h(z+c) + Q(z+c)$ are not constants.

Applying Lemma 2.8 to (2.11), we get a contradiction.

This completes the proof. □

3. Proof of Theorem 1.1

Proof. Assume to the contrary that $f_c \neq L(f)$. Set

$$F(z) = \frac{f_c - a}{f_c - b}, \quad G(z) = \frac{L(f) - a}{L(f) - b}. \quad (3.1)$$

Then, we have

$$T(r, F) = T(r, f_c) + S(r, f), \quad T(r, G) = T(r, L(f)) + S(r, f),$$

and by the conclusion (i) of Lemma 2.7,

$$S(r, F) = S(r, f), \quad S(r, G) = S(r, f).$$

Since f_c and $L(f)$ share a, b IM, $F(z)$ and $G(z)$ share $0, \infty$ IM. Further, the conclusions (i) and (iv) of Lemma 2.7 imply that

$$T(r, F) = \overline{N}(r, \infty; F) + S(r, f), \quad T(r, G) = \overline{N}(r, \infty; G) + S(r, f) \quad (3.2)$$

and

$$\overline{N}_{(2)}(r, \infty; F) + \overline{N}_{(2)}(r, \infty; G) = S(r, f). \quad (3.3)$$

Moreover from (3.1), we have

$$F' = \frac{(a-b)f'_c}{(f_c-b)^2}, \quad G' = \frac{(a-b)L'(f)}{(L(f)-b)^2}.$$

This together with the conclusion (vi) of Lemma 2.7 lead to

$$\overline{N}(r, 0; F') \leq \overline{N}(r, 0; f'_c) + S(r, f) = S(r, f), \quad (3.4)$$

$$\overline{N}(r, 0; G') \leq \overline{N}(r, 0; L'(f)) + S(r, f) = S(r, f).$$

Set

$$H(z) = \frac{F''}{F'} - \frac{G''}{G'}. \quad (3.5)$$

Let z_0 be a pole of $F(z)$ and $G(z)$ with the same multiplicities k (by (3.1), we know z_0 is a zero of $f_c - b$ and $L(f) - b$ with the same multiplicities $k(\geq 1)$). Then, we obtain

$$F(z) = \frac{a_{-k}}{(z-z_0)^k} + \frac{a_{-(k-1)}}{(z-z_0)^{k-1}} + \dots + a_0 + a_1(z-z_0) + a_2(z-z_0)^2 + \dots$$

and

$$G(z) = \frac{b_{-k}}{(z-z_0)^k} + \frac{b_{-(k-1)}}{(z-z_0)^{k-1}} + \dots + b_0 + b_1(z-z_0) + b_2(z-z_0)^2 + \dots,$$

where $a_{-k}b_{-k} \neq 0$. A simple computation shows that

$$H(z) = \frac{k-1}{k} \left(\frac{a_{-(k-1)}}{a_{-k}} - \frac{b_{-(k-1)}}{b_{-k}} \right) + A_1(z-z_0) + A_2(z-z_0)^2 + \dots, \quad (3.6)$$

which means that z_0 is not a pole of $H(z)$. Using (3.1), (3.4) and the conclusion (v) of Lemma 2.7, we have

$$\begin{aligned} N(r, \infty; H) &\leq \overline{N}(r, \infty; F) - N_E(r, \infty) + \overline{N}(r, \infty; G) - N_E(r, \infty) \\ &\quad + \overline{N}(r, 0; F') + \overline{N}(r, 0; G') + S(r, f) \\ &= \overline{N}(r, b; f_c) + \overline{N}(r, b; L(f)) - 2N_E(r, \infty) + S(r, f) = S(r, f), \end{aligned} \quad (3.7)$$

where $N_E(r, \infty)$ is the reduced counting function of the poles of $F(z)$ and $G(z)$ with the same multiplicities. Obviously applying the Lemma on logarithmic derivative to (3.5), it follows that

$$m(r, H) = S(r, f). \quad (3.8)$$

Thus by (3.7) and (3.8), we obtain

$$T(r, H) = S(r, f). \quad (3.9)$$

In the following, we will discuss two cases.

Case 1. $H(z) \not\equiv 0$. In this case (3.2) and (3.3) imply that $F(z)$ and $G(z)$ have infinitely many simple poles. Let z_0 be a simple pole of $F(z)$ and $G(z)$ then from (3.6), we know z_0 is a zero of $H(z)$. Therefore from (3.3) and (3.9) we have

$$\overline{N}(r, \infty; F) + S(r, f) = \overline{N}(r, \infty; F) - \overline{N}_{(2)}(r, \infty; F) \leq N(r, 0; H) + S(r, f) = S(r, f),$$

which contradicts (3.2).

Case 2. $H(z) \equiv 0$. In this case (3.5) means that

$$F(z) = AG(z) + B, \quad (3.10)$$

where $A (\neq 0)$ and B are two constants.

We claim that a is not a Picard value of f_c and $L(f)$. Otherwise, if a is a Picard value of f_c and $L(f)$, then we see that 0 is a Picard value of $F(z)$ and $G(z)$. Moreover, since $a \neq b$, by (3.1), it shows 1 is a Picard value of $F(z)$ and $G(z)$. Hence 0 and 1 are two Picard values of $F(z)$. From Lemma 2.6 and (3.1), it follows that

$$\frac{f_c - a}{f_c - b} = F(z) = \frac{-1}{e^{h(z)} - 1},$$

which leads to $f_c(z) = (b-a)e^{-h(z)} + a$, where $h(z)$ is a non-constant entire functions and so $f_c(z)$ is entire. By Lemma 2.9, we know $f_c(z) = L(f)$, which contradicts the assumption $f_c(z) \not\equiv L(f)$.

Hence, a is not a Picard value of f_c and $L(f)$, and so 0 is not a Picard value of $F(z)$ and $G(z)$. Further, (3.10) yields that $B = 0$. Thus,

$$F(z) = AG(z). \quad (3.11)$$

Since that $a \neq b$, by (3.1), we have 1 is Picard value of $F(z)$ and $G(z)$. Moreover, invoking $A \neq 0$, from (3.11), we see A is a Picard value of $F(z)$. Therefore,

$$\frac{f_c - a}{f_c - b} \neq A,$$

which implies that $f_c \neq \frac{Ab-a}{A-1}$ (note that $f_c(z) \not\equiv L(f)$, we obtain that $A \neq 1$). It is obvious that

$$\frac{Ab - a}{A - 1} \neq a, \quad \frac{Ab - a}{A - 1} \neq b.$$

Hence, we conclude that $\frac{Ab-a}{A-1}$ is a Picard value of f_c , which contradicts the conclusion (ii) of Lemma 2.7. This completes the proof of the theorem. \square

4. Conclusion

In this research article, we have proved a theorem by using the concept of sharing two values IM(Ignoring Multiplicities) and replacing a differential function by its polynomial which improves and generalizes the previous result obtained in [3].

5. Acknowledgement

The authors are grateful to the referee for his/her valuable suggestions /comments towards the improvement of the paper.

REFERENCES

- [1] A. Banerjee, S. Maity: Uniqueness of meromorphic function with its linear c -shift and linear q_c -shift operators, *Electronic Journal of Mathematical Analysis and Applications*, Vol. 10 No. 1, 184-194, 2022.
- [2] Z.X. Chen: *Complex Differences and Difference Equations*, Science Press, Beijing 2014.
- [3] S. Chen, A. Xu: Uniqueness of derivatives and shifts of meromorphic functions, *Comput. Methods Funct. Theory*, Vol. 22, 197-205, 2022.
- [4] Y.M. Chiang, S.J. Feng: On the Nevanlinna characteristic of $f(z+\eta)$ and difference equations in the complex plane, *Ramanujan J.*, Vol. 16, 105-129, 2008.
- [5] R. Halburd, R. Korhonen: Growth of meromorphic solutions of delay differential equations, *Proc. Am. Math. Soc.*, Vol. 145, 2513-2526, 2017.
- [6] R.G. Halburd, R.J. Korhonen, K. Töhtge: Holomorphic curves with shift invariant hyperplane preimages, *Trans. Amer. Math. Soc.*, Vol. 366, 4267-4298, 2014.

- [7] W.K. Hayman: Meromorphic Functions, The Clarendon Press, Oxford, 1964.
- [8] I. Lahiri: Value distribution of certain differential polynomials, Int. J. Math. Math. Sci., Vol. 28, 83-91, 2001.
- [9] I. Lahiri: Weighted value sharing and uniqueness of meromorphic functions, Complex Var. Theory Appl., Vol. 46, 241-253, 2001.
- [10] I. Laine: Nevanlinna Theory and Complex Differential Equations, Walter de Gruyter, Berlin/New York, 1993.
- [11] K. Liu, L. Yang: On entire solutions of some differential difference equations, Comput. Methods Funct. Theory, Vol. 13, 433-447, 2013.
- [12] X. Qi, L. Yang: Uniqueness of meromorphic functions concerning their shifts and derivatives, Comput. Methods Funct. Theory, Vol. 20, 159-178, 2020.
- [13] X. Qi, L. Yang, N. Li: Uniqueness of meromorphic functions concerning their difference and solutions of difference Painleve, Comput. Methods Funct. Theory, Vol. 18, 567-582, 2018.
- [14] B. Saha, S. Pal, T. Biswas: Some results on uniqueness of certain type of shift polynomials sharing a small function, J. Korean Soc. Math. Educ. Ser. B Pure Appl. Math., Vol. 29 No. 1, 37-50, 2022.
- [15] C.C. Yang, H.X. Yi: Uniqueness Theory of Meromorphic functions, Kluwer, Dordrecht, 2003.

B. SAHA

DEPARTMENT OF MATHEMATICS, GOVERNMENT GENERAL DEGREE COLLEGE NAKASHIPARA, MURAGACHHA, NADIA, WEST BENGAL, INDIA, PIN-741101

Email address: sahaanjan11@gmail.com, sahabiswajitku@gmail.com

S. PAL

SAHEBPARA MALITHAPARA PRIMARY SCHOOL, KARIMPUR NEW CIRCLE, NATIDANGA, NADIA, WEST BENGAL, INDIA, PIN-741152

Email address: subratapal.pal1993@gmail.com